YORK, DOLAN & TOMLINSON, P.C. Attorneys and Counselors at law 22600 Hall Road, Suite 205 Clinton Township, Michigan 48036 586-263-5060 Fax 586-263-4763

John A. Dolan (jdolan@yorkdolanlaw.com) Timothy D. Tomlinson (ttomlinson@yorkdolanlaw.com) Linda M. McGrail (Imcgail@yorkdolanlaw.com)

Fred A. York (1930-1989)

September 5, 2023

Via Email (fschulte@gpwmi.us) Mr. Frank Schulte, City Administrator City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236

#### RE: YORK, DOLAN & TOMLINSON, P.C. – LEGAL BILLING

Dear Mr. Schulte:

Enclosed is our statement for legal services rendered for the month of August, 2023. If you have any questions regarding same, please do not hesitate to contact us. We remain,

Very truly yours,

YORK, DOLAN & TOMLINSON, P.C.

Timothy D. Tomlinson

FI

55 91612023

101-265-801,200 \$1,147.00

101-266-501.100 \$ 4,061.00 101-266-801.000 \$ 729.50

Timothy D. Tomlinson

Enclosure

cc:

Sue Como, Via Email (scomo@gpwmi.us) w/Enclosure Shawn Murphy, Via Email (smurphy@gpwmi.us) w/Enclosure Sean Schmidt, Via Email (sschmidt@gpwmi.us) w/ Enclosure

### RECEIVED

SEP 1 2 2023

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

# York, Dolan & Tomlinson, P.C.

## INVOICE

22600 Hall Road, Ste. 205 Clinton Township, MI 48036 Invoice # 122 Date: 09/05/2023 Due On: 10/05/2023

City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236

#### 00003-City of Grosse Pointe Woods

### **Planning and Zoning**

Туре	Date	Notes	Quantity	Rate	Total
Service	08/02/2023	Rec and Rev Walling corresp re: forfeiture; Reply email	0.20	\$155.00	\$31.00
Service	08/04/2023	TC w/ Schulte re: commercial parking	0.20	\$155.00	\$31.00
Service	08/07/2023	Rec and Rev (4) emails re: forfeited property; Reply email	0.40	\$155.00	\$62.00
Service	08/07/2023	TC re: Legacy Oaks; Rec and Rev email from Building	0.20	\$155.00	\$31.00
Service	08/07/2023	Review email from McKenna re: murals; Research; Reply email	1.30	\$155.00	\$201.50
Service	08/08/2023	Prepare and attend City Council mtg.	2.50	\$155.00	\$387.50
Service	08/08/2023	Review; Email Wayne County re: forfeited property	0.30	\$155.00	\$46.50
Service	08/08/2023	Rec and rev email from McKenna re: murals; Reply email	0.30	\$155.00	\$46.50
Service	08/17/2023	TC w/ Clerk re: ZBA	0.30	\$155.00	\$46.50
Service	08/21/2023	TC w/ Schulte re: ZBA	0:20	\$155.00	\$31.00
Service	08/22/2023	Prepare and attend PC meeting	1.50	\$155.00	\$232.50

Subtotal \$1,147.00

#### 00008-City of Grosse Pointe Woods

#### Prosecutions

Туре	Date	Notes	uantity	Rate	Total
Service	08/01/2023	P v Akild - Rec and Rev email w/ sip and order to	0.30	\$155.00	\$46.50 <sup>°</sup>
		المحمد والبيب بالمصحير والمستعدين الاراب والمتحافية كالمحاور الالتان والتواري أبوار ويوار ويتوارد		and the same set	المحاجب والمكود المعاجم

		adjourn; Reply email			
Service	08/02/2023	Prepare and attend municipal prosecutions	2.60	\$155.00	\$403.0
Service	08/04/2023	P v Richmond - Rec and Rev email w/ Order Returning Firearm; Reply email	0.30	\$155.00	\$46.5
Service	08/07/2023	P v Liagre - Rec and Rev email from DPS w/ subpoena; Reply email	0.20	\$155.00	\$31.0
Service	08/09/2023	P v Lugg - Rec and Rev email w/ incident report and request for S/C; Reply email	0.80	\$155.00	\$124.0
Service	08/11/2023	P v Atllda - Rec and Rev email from D's atty; Reply email; Email Code Enforcement	0.40	\$155.00	\$62.0
Service	08/11/2023	Rec and rev email from Court	0.20	\$155.00	\$31.0
Service	08/14/2023	P v Nelson - Research; Dictate Answer and Brief in Opposition to Dismissal	2.40	\$155.00	\$372.00
Service	08/15/2023	P v Nelson - Review and Revise Brief; Research; Dictate	1.60	\$155.00	\$248.0
Service	08/15/2023	P v Howard - Rec and Rev email w/ corresp.	0.20	\$155.00	\$31.0
Service	08/16/2023	Prepare and attend municipal presecutions	3.30	\$155.00	\$511.5
Service	08/16/2023	P v Nelson - Revise Brief; Prepare exhibits and POS; File w/ court; Email attorneys	1.00	\$155.00	\$155.00
Service	08/16/2023	P v Galik - Research; TC w/ Reed	0.50	\$155.00	\$77.50
Service	08/17/2023	TC w/ Schulte re: Laurie	0.20	\$155.00	\$31.0
Service	08/21/2023	Rec and Rev email from Diehl re: record request; Reply email	0.30	\$155.00	\$46.50
Service	08/21/2023	P v Waller - Rec and Rev email w/ Demand for Discovery; Email DPS	0,40 ·	\$155.00	\$62.00
Service	08/22/2023	P v Nemeth - Rec and Rev Discovery documents and videos	0:80	\$155.00	\$124.00
Service	08/23/2023	P v Llagre - Rec and Rev Discovery materials and videos	1.00	\$155.00	\$155.00
Service	08/24/2023	P v Webber - Review discovery and video	0.50	\$155.00	\$77.50
Service	08/24/2023	TC w/ Schulte; Email County	0.30	\$155.00	\$46.50
Service	08/24/2023	P v Heiteman - Rec and Rev email from D's atty.	0.20	\$155.00	\$31.00
Service	08/25/2023	P v Korp - TC w/ DB; Rec and Rev email w/ incident report and request for S/C	0.80	\$155.00	\$124.00
Service	08/27/2023	P v Palac - Rec and Rev email w/ incident report and request for S/C; Reply email	0.80	\$155.00	\$124.00

. . .

.

.

Service	08/28/2023	P v Thiel - Prepare and attend hearing at 32A District Court	2.00	\$155.00	\$310.00
Service	08/28/2023	P v Smith - TC to D's atty.	0.20	\$155.00	\$31.00
Service	08/28/2023	Rec and Rev email from Court	0.20	\$155.00	\$31.00
Service	08/28/2023	P v Smith - (2) TC w/ D's atty; Prepare stip and order to adjourn; Email D's atty.; Rec and Rev Demand for Discovery; Emal DPS	1.40	\$155.00	\$217.00
Service	08/29/2023	P v Relich - Review file; TC w/ D's atty.	0.40	\$155.00	\$62.00
Service	08/29/2023	P v Nelson - TC w/ Atty. Draper	0.30	\$155.00	\$46.50
Service	08/30/2023	Prepare and attend municipal prosecutions	1.90	\$155.00	\$294.50
Service	08/31/2023	P v Smith - Rec and Rev Discovery materials and video	0.70	\$155.00	\$108.50

Subtotal \$4,061.00

# 00049-City of Grosse Pointe Woods

## General

Туре	Date	Notes	Quantity	Rate	Total
Service	08/08/2023	Rec and Rev email re: Star of the Sea LCC application; Research; Reply email	0.50	\$155.00	\$77.50
Service	08/08/2023	Rec and Rev email from Wayne County; Reply email	0.20	\$155.00	\$31.00
Service	08/08/2023	TC w/ Schulte	0.20	\$155.00	\$31.00
Service	08/09/2023	Rec and Rev (2) emails from Schulte re: forfeiture; Reply email	0.20	\$155.00	\$31,00
Service	08/09/2023	Rec and Rev email re: records request; Reply email	0.20	\$155.00	\$31.00
Service	08/09/2023	Conference call w/ Administration; TC to Wayne County	0.70	\$155.00	\$108.50
Service	08/10/2023	Rec and rev email from Grant; Rec and Rev email from Schulte; TC to Wayne County; Email from Wayne County; Reply email	1.00	\$155.00	\$155.00
Service	08/14/2023	TC w/ Wayne County re: property forfeiture; TC w/ Shulte	0.40	\$155.00	\$62.00
Service	08/16/2023	Rec and Rev (2) emails re: forfeiture	0.30	\$155.00	\$46.50
Service	08/30/2023	Rec and Rev email w/ corresp. re: audit; Dictate audit corresp.	1.00	\$155.00	\$155.00
	· · · · · ·		Subto	otal	\$728.50

Total \$5,936.50

### **Detailed Statement of Account**

**Current Invoice** 

Inv	olce Number Due On	Amount Due	Payments Received	Balance Due
122	10/05/2023	\$5,936.50	\$0.00	\$5,936.50
		······································	Outstanding Balance	\$5,936.50
			Total Amount Outstanding	\$5,936.50

Please make all amounts payable to: York, Dolan & Tomlinson, P.C.

Please pay within 30 days.